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The basic idea is to use a two dimension arrey board to maintain the game
board.

Board is a three by three matrix of the cell [1][0],board[1][1]and board[1][2].

In this case we chose to make the cell in the board arrey be integer,with a 0
indication an empty cell a 1 indicating an x and -lindicating an 0

Note this code maintaining the tic tac toe board and registering moves it does

not perfrm any strategy or allow someone to play tic tac toe against the
computer

In this time we use intilli j ide for java tic tac toe game coding

He Edt View Navigste Code Anzfze Refactor Build Run Took VCS Window Help

» untitied16 st tit € Manjava

T Project @ = 8 — €Manjea
£ - untitled16 package ttt;
: i Extemal Libvaries import java.util.Scanmer;

@ Scratches 2nd Conscles
public class Main {
public static void main{String[] args) {
TicTacTee t = new TicTacTos();
Scanper s = new Scanner(System.in);
int x=0,y=0;

do

f
L

Systes.out.printin(t.player=t.X?"Player X turn”:"Player 0 turn");
System.out.printin("Enter x and y places”);
x=s.nextInt();

y=s.nextInt();

t.putSign(x, y);

System.out.println(t.toString());
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21 System.out.println(” oF
22 t.displayWinner();

L Jwhile(t.isEmpty);

25 }

26 }

28 class TicTacToe

29 [

3e public static final int ¥ = 1, 0 = -1;

31 public static final int EMPTY = @&;

33 public int player = X;
34 private int[][] board = new int[3][3];
35 public boolean isEmpty = false;

3 public wvoid putSign{int =, int y)
38 {

39 if(x<@ || =22 || y<@ || y>2)
A6 {

41 System.out.println{"Invalid board position™);

42 return;

43 1

e if(board[x][y] '= EMPTY)

45 {

46 System.out.println(“Board position occupied”);

47 return;

48 1

49 board[x][y] = player;

5@ player = -player;

51 }

53 public boolean isWin(int player)

54 i

55 return ((board[®][@] + board[@][1] + board[@][2] == player*3) ||
56 (board[1][@] + board[1][1] + board[1][2] == player*3) ||
57 (board[2][@] + board[2][1] + board[2][2] == player*3) ||
58 (board[®][@] + board[1][8] + board[2][@] == player*3) ||
59 (board[®][1] + board[1][1] + board[2][1] == player*3) ||
58 (board[®8][2] + board[1][2] + board[2][2] == player*3) ||
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(board[@][@] + board[1][1] + board[2][2] ==
(board[2][@] + board[1][1] + board[@][2] ==
¥
public woid displayWinner()
1
if(isWin(X))
1
System.out.println{™\n X wins...!!");
isEmpty=false;
}
else if(iswin(0))
1
System.out.println{™\n 0 wins...!!");
isEmpty=false;
}
else
1
if{!isEmpty)
[
system.out.println{"its a tie");
¥
¥
¥

public String toString()
{
stringBuilder s = new StringBuilder();
isEmpty = false;
for(int i=B;i<3;i++)
1
for(int j=8;j<3;j++)
{
switch({board[1][]])
1
case X:
s.append(™ X ");
break;

case O:

player*s) ||
player*3));
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s.append(" 0 ");
break;
case EMPTY:
s.append("  "};
isEmpty=true;
break;
b
if(j<2)
1
s.append(”|");

¥
if(i<2)

1
s.append{"\n-------———-- \n");

}

return s.toString();
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"C:\Program Files\Jawva‘jdk-14\bin‘\java.exe
Player X turn

Enter x and y places

Player O turn

Enter x and y places

Player X turn

Enter x and y places

"-javaagent:C:\Program Files)
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Player X turn

Enter x and y places
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Board position cccupied
| ¥ | 0

Player X turn

Enter x and y places




